Exercices 196 a 200 Factoriser

Exercices 196 a 200 : factoriser

Solutions

Emploi des identités : & - b° - décomposer en facteurs

196 2) a'-1= (a2 +1)(a2 —1): (a2 +1)(a +1)a-1)

e N e o

6) 25a*> —(2a+3b)’ =(5a+2a+3b)(5a —2a-3b)=3(7a +3b)a-b)
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(?ax2 —?ax—l)2 —(x2 —3x+1)2 =
8) [Bx?-3x-1)+(x* -3x+1)[Bx? =35 -1)-(x? =32 +1)| =
(ax? —6x)(2x? = 2) = 2x(2x = 3)2(x? —1) = 4x(2x = 3)(x + 1)(x — 1)
10)  1-(2a-1) =[1+@a-1)1 - (2a -1)] = 2a(2 - 24) = 4a(1 - a)

12)  (a+2b) -a —[(a+2b +a][a+2b a] (2a +2b)2b = 4b(a +b)

197 2)  a*-b*+ac+be=(a+b)a-b)+cla+b)=(a+b)a-b+c)

4) a*-b*+a+b=(a+b)a-b)+(a+b)=(a+b)a-b+1)

6) a'+3a’-a-3=a*(a+3)-(a+3)=(a+3)a® -1)=(a+3)a+1)a-1)

8)  6x°+x>—24x—4=x(6x +1)-4(6x +1) = (6x +1)(x> —4) = (6x +1)(x +2)(x - 2)
a’b-2ab~-b* +2b> =b(a*> —b*)-2b(a —b) = ba +b)a - b)-2b(a - b) =
bla-b)a+b-2)

¥ -1+xt —x=x" (x+1) ( )=(x+1)(x 1):(x+1)(x +1)(x 1)
+1

e o 1) =1) = (o 1) 1) 1)

9)

10)

198 2)  9(x-y) —4y> =[(3x=3y)+2y][(3x~3y) - 2y] = (3x - y)(3x - 5¥)

12(a -b) =3(2a +b)* =3[(2a - 2b) + (2a + b)|[(2a - 2b) - (2a + )]

K =3(4a - b)(-3b) = -9b(4a - b) = 95(b - 4a)

6) 9(b+x) —(3a-3x) [3b+x )+3(a - x][3b+x 3(a - x] 9a+b)p-a+2x)
(a

4(a=b)x=1) +x*(b-a) = 4(a =b)(x=1) - x*(a =b)
4 -1)2-x2]_( )2 - 2)+ (2 - 2) - 4]

K ( - (b2 -2)

-b
(-
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b)2 +a(a+b)+(a2 —b2)=(a +b)2 +a(a +b)+(a +b)(a—b)=

199 1
) b(a+b+a+a—b)=3a(a+b)

2x=3)(x=3)+2(x=3)" +x* =9 =(2x=3)(x =3) +2(x - 3)" + (x +3)(x -3) =
x-3)2x-3+2x-6+x+3)=(x-3)(5x—6)

) =3(1+2x)+2-8x% = (1 +2x) =3(1 +2x)+2(1+2x)(1 - 2x) =
Ji+2x-3+2-4x)=—2x(2x +1)

2x +1

3)
1+2x

(
(
D |
(
(

Emploi des identités : @’ + 2ab + b°- décomposer en facteurs

200 2) x*-6x+9=(x-3)
4)  a® +4ab+4b* = (a+2b)
6) 1+2x2+x4=(1+x2)2
8) 4x?+4x*+1= (2x2 +1)2
10)  9x* +16y +24x%y = (3x2 +4y)2

12)  4x*y? —20xy +25=(2xy -5)’

2
14)  4x? +l+2x= 2x+l
4 2

2
15) ﬂ+y_2+£:[£+lj
3 9 4 2 3
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